
Name: CA: Date:
RAPT Questions Info Gram A LFT extension questions B lFT extension questions Cla. What is this girl doing?

1b. How is she feeling 1e. Why is the girl feeling X?

2a. What is the mother going to do?
2b. In this picture, what do you think the wealher is like 2c. How do you know the weather is X?
outside?

I
3a. What has been done to the dog?

3b. Why do you think he has been tied up? 3c. Why should dogs NOT be tied up for along time?

4a. Tell me all about what the man is doing? 4b. Tell me an animal that people don't ride 4e. What's the same about a horse and X?

5a. What has the cat Just done?
5b. Why did the cat catch the mice? 5c. What is a mouse?

68. What has happened to the girl?
6b. Her glasses have broken, what will her murn have to &C. Her mum can't do X. What else could her mum do?
do?

7a. What has the big girl done?
7b. He's posting a letter, what else could he post? 7e. Why is ~ better to get parcels than letters in the post?

8a. Tell me whal the man Is doing?
8b. What does the man say to the cal? 8c. Why doesn't the man shout at the cat?

9a. What is Ihe boy doing?
9b. How will the boy get his slippers back? 9c. What's the difference between slippers and shoes?

lOa. Tell me whal's happening?
lOb. Why are the apples falling out? lOc. Which is better a plastic bag or a bag made of cloth?

(Not scored) Why?

Totals



LFT Score
3 points

The pupil has understood the question and has given a relevant answer. The answer is accurate and does not
require the listener to further interpret the pupil's answer. There may be minor grammatical errors but these do not
affect meanina.

2 points
The pupil has understood the question and has given a relevant answer. The listener may have to infer some
information. Grammatical errors affect meanina.

1 point
The pupil's answer shows that they could have understood the question, but his/her response is not clyar. The
listener needs to interpret the informationo points Here the answer is incorrect, inaccurate, tanaential to the question or no response is Qiven.

Score Lanauaae Level to start at
0-15 Not ready to use 'LanQuaQe for ThinkinQ'
16-36 LanQuaQe Level A
37-57 LanQuaQe Level B
58-75 LanQuaQe Level C
76+ Success I
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Outcome
RAPT Score Mean forAge Standard Dev Outcome (e.g. WNL, between _l_

and -2 st dev's, below -2 sr dey'slInformation
Grammar

LFT total score Starter Level
lease circle

A B C
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